Multiply by Positive Powers of Ten (A)

Find each product.

78 X 10% = 45 x 10% =
12 x 10% = 77 x 10* =
31 x 10% = 23 x 103 =
36 X 10% = 39 x 10* =
99 x 10 = 66 x 10* =
12 x 10* = 14 x 10% =
26 x 101 = 26 X 10% =
62 X 10% = 82 x 103 =
36 x 10 = 61 x 103 =
58 x 103 = 73 x 10% =
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Multiply by Positive Powers of Ten (A) Answers

78 x 10 = 7,800

12 x 10 =1,200

31 x 10*= 3,100

36 X 10% = 3,600

99 x 10' =990

12 x 10 =120

26 X 10* =260

62 X 10%> = 6,200

36 X 10' =360

58 x 10° = 58,000

Find each product.

45 x 10 = 4,500

77 X 10* =770

23 x 10% = 23,000

39 x 10' =390

66 x 10 = 660

14 x 10* = 1,400

26 X 10> = 2,600

82 x 10° = 82,000

61 x 10° =61,000

73 x 10% = 7,300
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